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SETS

One Marks Questions With Answers

1. Represent in roaster form {z: z is vowel of English alophabet}

o Watch Video Solution

2.Represent in set builder form {1, 5,10, 15.......... }

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gimc553RxEi0
https://dl.doubtnut.com/l/_AF4SnHNxHqHw
https://dl.doubtnut.com/l/_kk3OmEApOHg1

3. Classifiy the following as finite or infinite set

{z:zeN and z° = 9}

o Watch Video Solution

4. Classifiy the following as finite or infinite set

{z:zeN and z is prime}

o Watch Video Solution

5. Are the following pair of sets equal? Give reason. Itrbgt

A=(3,4),B={z:2> + 5z + 6 =0}

o Watch Video Solution

6. Are the following pair of sets equal? Give reason.
A = {x:xis aletter of the work FOLLOW}

B = {y:yis aletter of the word WOLF'}


https://dl.doubtnut.com/l/_kk3OmEApOHg1
https://dl.doubtnut.com/l/_LFsDuCfouF1G
https://dl.doubtnut.com/l/_TZXpC0hPZZLa
https://dl.doubtnut.com/l/_heUw8kEfG9tt

° Watch Video Solution

7. Write the set of possible subsets (power set) of the set A = {1, 2}

° Watch Video Solution

8.1fU = {1,2,3,4,5,6,8}, A= {2,4,6}, B={2,3,5}find: AN B

° Watch Video Solution

9.1fU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5}find: AU B

° Watch Video Solution

10.1fU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5}find:A’

° Watch Video Solution



https://dl.doubtnut.com/l/_heUw8kEfG9tt
https://dl.doubtnut.com/l/_useh6RhLD5WX
https://dl.doubtnut.com/l/_p2pRBHiTteia
https://dl.doubtnut.com/l/_AswO3amxc8lk
https://dl.doubtnut.com/l/_FtJWiQ28IL2q
https://dl.doubtnut.com/l/_fnwryhm1Sptu

MIFU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5} find:A — B

° Watch Video Solution

12.1FU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5} ind:A’ N B’

° Watch Video Solution

13. How may elements has P(A) if A = ¢?

° Watch Video Solution

14. Write the following as intervals.

{r:2eR,3 <z < 4}

° Watch Video Solution



https://dl.doubtnut.com/l/_fnwryhm1Sptu
https://dl.doubtnut.com/l/_ktNIrzp8pNAD
https://dl.doubtnut.com/l/_SH6LxJ2stwtB
https://dl.doubtnut.com/l/_Re1CLteu68DI

15. Write the following as intervals.

{z:2eR,0 < z < 8}

° Watch Video Solution

16. Write the following sets is roster form:

A = {z:zisaninteger and — 3 < z < 7}

° Watch Video Solution

17. Write the following sets is roster form:

C = {z: xis a two -digit natural number such that the sum of its digits is &

° Watch Video Solution

18. Write the following sets is roster form:

C = {z: xis a two -digit natural number such that the sum of its digits is &

| e |


https://dl.doubtnut.com/l/_ATZA6PFgI6Vh
https://dl.doubtnut.com/l/_Y74qGWV6rZNs
https://dl.doubtnut.com/l/_vd5YKMglVcKK
https://dl.doubtnut.com/l/_8QGc9AnIB5Ba

| & Watch Video Solution

19. Write the following sets is roster form:

D = {z: zis a prime number which is divisor of 60}

° Watch Video Solution

20. Write the following sets is roster form:

E = The set of all letters in the work TRIGONOMETRY

° Watch Video Solution

21. Write the following sets is roster form:

F = The set of all letters in the work BETTER

° Watch Video Solution



https://dl.doubtnut.com/l/_8QGc9AnIB5Ba
https://dl.doubtnut.com/l/_oTtOa6ZtDMI4
https://dl.doubtnut.com/l/_zc3Sy2V09D6Q
https://dl.doubtnut.com/l/_KRWwmJMk617k

22. Write the following sets in the set-builder form: {2, 4, 8, 16, 32}

o Watch Video Solution

23. Write the following sets in the set-builder form: {2, 4, 8, 16, 32}

o Watch Video Solution

24. Write the following sets in the set-builder form: {5, 25, 125, 625}

o Watch Video Solution

25. Write the following sets in the set-builder form:

{1,4,9,............100}

o Watch Video Solution



https://dl.doubtnut.com/l/_NEQzIYfGP8e8
https://dl.doubtnut.com/l/_aRnfahs7BKsZ
https://dl.doubtnut.com/l/_nQrFgZtkciXd
https://dl.doubtnut.com/l/_qSelLe8ztMQs

26. Write the following sets in the set-builder form:

{1,4,9,............100}

° Watch Video Solution

27. Let all the elements of the following sets:

A = {z: zis an odd natural number}

° Watch Video Solution

28. Let all the elements of the following sets:

1 9
B = {x:xisaninteger, -3 <z < E}

o Watch Video Solution

29. Let all the elements of the following sets:

C = {m:a: is an integerz? < 4}



https://dl.doubtnut.com/l/_r5npfONMDyqD
https://dl.doubtnut.com/l/_D2PjNuUXBJq3
https://dl.doubtnut.com/l/_ZZEHqKmE1naR
https://dl.doubtnut.com/l/_Bl8BTyvvMm1M

| ) Watch Video Solution

30. Let all the elements of the following sets:

D = {z: zis aletter in the work LOYAL}

° Watch Video Solution

31. Let all the elements of the following sets:

E = {z: zis month of a year not having 31 days}

° Watch Video Solution

32. Let all the elements of the following sets:

F = {z: zis a consonant in the English alphabet which precedes k}

° Watch Video Solution

Two Marks Questions With Answers


https://dl.doubtnut.com/l/_Bl8BTyvvMm1M
https://dl.doubtnut.com/l/_ok9fpNfTWijK
https://dl.doubtnut.com/l/_POdLrM9P2Kb1
https://dl.doubtnut.com/l/_sAww6Nys0LaZ

L. f U=1{0,1,2,3..c........9},A=1{0,2,4,6,8 and d
B = {0, 2, 3, 5, 7} verify that

(AUB)’=A"nNnB’

° Watch Video Solution

2 If U={0,1,2,3..........9}, A=1{0,2,4,6,8)  and
B = {0, 2, 3, 5, 7} verify that

(AUB)’=A"nNnB’

° Watch Video Solution

3. If A=(3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dAnnB’

° Watch Video Solution

4. If A={3,5,7,9,11},B={7,9,11,13},C=(11,13,15} and D={15,17}, f € dBnnC



https://dl.doubtnut.com/l/_2cwOiLnFVq1z
https://dl.doubtnut.com/l/_idpSfntiynwu
https://dl.doubtnut.com/l/_bKwtR4jpFtid
https://dl.doubtnut.com/l/_7lNVa4agzbxc

| & Watch Video Solution

5.1f A=(3,5,7,9,11},B=(7,9,11,13},C={11,13,15} and D = {15, 17}, find

BnND

o Watch Video Solution

6. If A=(3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dAnnC’

o Watch Video Solution

7.1f A=(3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dBnnD’

o Watch Video Solution

8. If A=(3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dAnn(BuuC)’

o Watch Video Solution



https://dl.doubtnut.com/l/_7lNVa4agzbxc
https://dl.doubtnut.com/l/_7MS7GgePGCxe
https://dl.doubtnut.com/l/_EwzGremygkiM
https://dl.doubtnut.com/l/_5ET5cSA1xKnQ
https://dl.doubtnut.com/l/_Cdu2l3I9OuU9

9. If A=(3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dAnnD’

° Watch Video Solution

10. If A={3,5,7,9,11},B={7,9,11,13},C={11,13,15} and D={15,17}, f € dAnn(BuuD)’

° Watch Video Solution

1. If A={3,5,7,9,11},B={7,9,11,13},C=(11,13,15} and D={15,17}, f € d

(AnnB)nn(BuuC)’

° Watch Video Solution

122 If A={3,5709 11}, B=1{709 11,13}, C = {11,13,15} and
D = {15, 17}, find

(ANnD)Nn(BUCQC)

| ° WMl L\ Ol ikl n



https://dl.doubtnut.com/l/_Cdu2l3I9OuU9
https://dl.doubtnut.com/l/_eqkLSdToZ0Bd
https://dl.doubtnut.com/l/_HOwapoaSlUTK
https://dl.doubtnut.com/l/_RJoNfVMTkXOZ
https://dl.doubtnut.com/l/_CBCry12xXywR
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13. If
A ={3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

14. i
A =1{3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10,12, 1

and D = {5, 10, 15, 20} find: A — D

° Watch Video Solution

15. If
A =1{(3,6,9,12, 15,18, 21}, B = {4, 8, 12, 16, 20}, C = {2, 4, 6, 8, , 10, 12

and D = {5, 10, 15, 20} find: A — D

° Watch Video Solution



https://dl.doubtnut.com/l/_CBCry12xXywR
https://dl.doubtnut.com/l/_XFEUxVZMY5SE
https://dl.doubtnut.com/l/_mHqr8f5ZF16N
https://dl.doubtnut.com/l/_89jnyltj9A9L

16. If
A ={3,6,9,12,15,18 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

17. If
A ={3,6,9,12,15,18 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: A — D

° Watch Video Solution

18. If
A =1{3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: A — D

° Watch Video Solution



https://dl.doubtnut.com/l/_89jnyltj9A9L
https://dl.doubtnut.com/l/_fn9k1JMCU83o
https://dl.doubtnut.com/l/_uqw5465dg5ha
https://dl.doubtnut.com/l/_Fvbe9OTRRZ8I

19. If
A =1{3,6,9,12,15,18 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10,12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

20. If
A =1{3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10,12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

21. If
A =1{3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution



https://dl.doubtnut.com/l/_RvIiTlExUppp
https://dl.doubtnut.com/l/_NunEIIYYEOCt
https://dl.doubtnut.com/l/_AhXDfrvb9zft
https://dl.doubtnut.com/l/_0VzyMeMmoNJg

22, If
A =1{(3,6,9,12, 15,18, 21}, B = {4, 8, 12, 16, 20}, C = {2, 4, 6, 8, , 10, 12

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

23. If
A =1{3,6,9,12,15,18 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10,12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution

24. i
A =1{3,6,9,12,15,18, 21}, B = {4, 8,12, 16,20}, C = {2, 4,6, 8, 10, 12, 1

and D = {5, 10, 15, 20} find: D — B

° Watch Video Solution



https://dl.doubtnut.com/l/_0VzyMeMmoNJg
https://dl.doubtnut.com/l/_kazs8ygANR0Z
https://dl.doubtnut.com/l/_PBDYyJ2N1PoV

25.1FU = {1,2,3,4,5,6,8}, A = {2,4,6}, B ={2,3,5} find :A’

o Watch Video Solution

26.1fU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5} find : A’

o Watch Video Solution

27. Let U=1{1,2,3,4,5,6,7,8 9}, A=1{1,234} B={24,6,8)}

and C = {3,4,5,6}: Find:(AU C)’

o Watch Video Solution

28. Let U=1{1,2,3,4,56728 9} A={1,234} B={24,6,8)}

and C = {3,4,5,6}: Find:(AU C)’

o Watch Video Solution



https://dl.doubtnut.com/l/_StaM2URjaaAs
https://dl.doubtnut.com/l/_n5KNwxDOpgdO
https://dl.doubtnut.com/l/_hmGVkI7HZF1l
https://dl.doubtnut.com/l/_ctJW2Gd41nBm
https://dl.doubtnut.com/l/_1RS5MdlAiXpQ

20.1FU = {1,2,3,4,5,6,8}, A = {2,4,6}, B={2,3,5} find :A’

° Watch Video Solution

30. Let U ={1,2,3,4,56,78,9} A={1234} B={24,6 8}

and C = {3,4,5,6}: Find: (B — C)’

° Watch Video Solution

31. LetU = {a, b, ¢, d, e, f, g, h} find the complements of the following

sets:

C - {a) c7 e’ g}

° Watch Video Solution

32. LetU = {a, b, ¢, d, e, f, g, h} find the complements of the following

sets:


https://dl.doubtnut.com/l/_1RS5MdlAiXpQ
https://dl.doubtnut.com/l/_sIxxzVvpRJjW
https://dl.doubtnut.com/l/_eYVkCATLZT7B
https://dl.doubtnut.com/l/_ey6UvV5nZhmp

C ={a,ce, g}

° Watch Video Solution

33. LetU = {a, b, ¢, d, e, f, g, h} find the complements of the following

sets:

C ={a,ce, g}

° Watch Video Solution

34. LetU = {a, b, ¢, d, e, f, g, h} find the complements of the following

sets:

DZ{f’g’h’a}

° Watch Video Solution

35.1f U = {1,2,3,4,5,6,7,8,9}, A = {2,4,6,8} and B = {2, 3,5, 7).

Verifythat: (AU B)' = A’ N B’



https://dl.doubtnut.com/l/_ey6UvV5nZhmp
https://dl.doubtnut.com/l/_kWRjv7M6dRUy
https://dl.doubtnut.com/l/_7wuEUZHH9cwD
https://dl.doubtnut.com/l/_E15VDFLB4lVv

| ° Watch Video Solution

36.1f U = {1,2,3,4,5,6,7,8,9}, A = {2,4,6,8)} and B = {2, 3,5, 7).

Verifythat: (AU B)’ = A’ N B’

° Watch Video Solution

37. Let U={1,2,3,4,56,78,9} A={123,4}, B={24,6 8}

and C = {3,4,5,6}: Find:(AU C)’

° Watch Video Solution

38. If A={3,5,7,9,11},B=(7,9,11,13},C={11,13,15} and D = {15, 17}, find

(ANnB)N(BUCQC)

° Watch Video Solution



https://dl.doubtnut.com/l/_E15VDFLB4lVv
https://dl.doubtnut.com/l/_NhzyCsoktWGF
https://dl.doubtnut.com/l/_7BVPyxOsb7Gl
https://dl.doubtnut.com/l/_lYXsYbSQay8q

39. Let U={1,2,3,4,56,78,9} A={1234}, B={24,6 8}

and C = {3,4,5,6}: Find:(AU C)’

° Watch Video Solution

40. Set
U=4{0,1,23,4,5,6,7,89}A4 ={0,1,3,5,7}, B={0,2,4,6,8};, C = {

Find the following:A’ N (B’ — C)

° Watch Video Solution

41. IIf A and B are two sets such that A U B has 50 elements, A has 28

elements and B has 32 elements, how many elements does A N B have?

° Watch Video Solution



https://dl.doubtnut.com/l/_yvF2rqOAGykG
https://dl.doubtnut.com/l/_S9x2Lh2chBjb
https://dl.doubtnut.com/l/_v20IFAdLsbAw

42.If X and Y are two sets such that X has 40 elements , X UY has 60

elements and X N'Y has 10 elements , how many elements does Y have ?

° Watch Video Solution

43. IIf A and B are two sets such that A U B has 50 elements, A has 28

elements and B has 32 elements, how many elements does A N B have?

° Watch Video Solution

44. In a group of 400 people , 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English ?

° Watch Video Solution

45, |If A and B are two sets such that A U B has 50 elements, A has 28

elements and B has 32 elements, how many elements does A N B have?

| e |


https://dl.doubtnut.com/l/_FogEIctoovRF
https://dl.doubtnut.com/l/_AWIyQOL1y9si
https://dl.doubtnut.com/l/_rWRP3CFxUR2X
https://dl.doubtnut.com/l/_l1On8XzAUYL1

l & Watch Video Solution J

46. If X and Y are two sets such that X has 40 elements , X UY has 60

elements and X N'Y has 10 elements , how many elements does Y have ?

° Watch Video Solution

Three Marks Quesetion With Answerers

1. In a class of 40 students 30 play cricket and 18 play hockey. If the

students plays either circket or hockey find the number of students who

paly Hockey only.

° Watch Video Solution

2. In a group of 400 people , 350 can speak Hindi and 300 can speck

English . How many people can speak both Hindi and English ?

| ° Wiak A \tdAAaA CAlLLikiAan



https://dl.doubtnut.com/l/_l1On8XzAUYL1
https://dl.doubtnut.com/l/_qdKkzJncseNT
https://dl.doubtnut.com/l/_CW8KvDU1TyZj
https://dl.doubtnut.com/l/_btClRBqFFUqq
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3.In a group of 70n people , 37 like coffee, 52 like tea and each person
likes at least one of the two drinks . How many people like both coffee

and tea ?

o Watch Video Solution

4. In a class of 35 students, 17 have taken Mathematics , 10 have taken
Mathematics but not Economics. Find the number of students who have
taken Economics but not Mathematics , if the given that each student

have taken either Mathematic or Economic or both.

o Watch Video Solution

5. A college awarded 38 medals in football, 15 in basket ball and 20 in

circket. If the these medals went to a totakl of 58 men and only 3 men got


https://dl.doubtnut.com/l/_btClRBqFFUqq
https://dl.doubtnut.com/l/_Ky6kjVJg0dfM
https://dl.doubtnut.com/l/_9XFVon89TVFo
https://dl.doubtnut.com/l/_qRkNEEACD7ZS

medals in all the 3 sports , how many received medals in excatly two of

the three sports ?

° Watch Video Solution

6. Out of 500 car owners investigasted , 400 owned car A, 200 owend car

B and 50 owend both the cars. Is this data correct ?

° Watch Video Solution

7. In a group of 400 people , 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English ?

° Watch Video Solution

8. If X and Y are two sets such that X has 40 elements , X UY has 60

elements and X NY has 10 elements , how many elements does Y have ?

° Watch Video Solution



https://dl.doubtnut.com/l/_qRkNEEACD7ZS
https://dl.doubtnut.com/l/_RgpqfVThGG3g
https://dl.doubtnut.com/l/_jJjm69tYSKjk
https://dl.doubtnut.com/l/_3tjCUYUNwokq

9.In a group of 70n people , 37 like coffee, 52 like tea and each person
likes at least one of the two drinks . How many people like both coffee

and tea ?

° Watch Video Solution

10.In a group of 65 people, 40 like cricket , 10 like both cricket and tennis

. How many like tennis only and not cirkcet ? How many like tennis?

° Watch Video Solution

11.In a committee, 50 people speak French 20 speak Spanish and 10 speak
both Spanish and French. How many speak at least on of the these two

languages ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3tjCUYUNwokq
https://dl.doubtnut.com/l/_DItZSZFQjVDW
https://dl.doubtnut.com/l/_XAZfqdPrCcNq
https://dl.doubtnut.com/l/_KJpqo0u0uzg5
https://dl.doubtnut.com/l/_1la4jHx7giis

12.In a survey of 600 students in a school, 150 students were found to be
taking tea and 225 taking coffee, 100 were taking both tea and coffee.

Find how many students were taking neither tea nor coffee ?

o Watch Video Solution

13.1n a group of students , 100 students know Hindi , 50 know English and
25 know both . Each of the students know either Hindi or English . How

many students are there in the group ?

o Watch Video Solution

14.In a survey of 60 people , it was found that 25 people read newspaper
H, 26 read newspaper T,26 read newspaper | , 9 read both H and I, 11 read
both Hand T. S read both T and |, 3 read all there newaspaper . Find b:

(i) the number of people who read at least one of the newspaper .

(ii) the number of people who read exactly one newspaper.

o Watch Video Solution



https://dl.doubtnut.com/l/_1la4jHx7giis
https://dl.doubtnut.com/l/_yIsMYivaUyYm
https://dl.doubtnut.com/l/_7MoDh8NGcNYe

15. In a survey it was found that 21 people liked porduct A, 26 liked
product B and 29 liked product C. If 14 people liked product A and B , 12
people like products C and A, 14 people liked products B and C and 8 liked

all the three products. Find how many liked product C only.

o Watch Video Solution



https://dl.doubtnut.com/l/_7MoDh8NGcNYe
https://dl.doubtnut.com/l/_vYU1vqGVjPjP

